Lisa Palmer, President Tom Fayram, Vice President Mike Arme, Director Brian O'Neill, Director Brad Ross, Director



LOS OLIVOS COMMUNITY SERVICES DISTRICT

Finance Committee Meeting, April 9, 2021, 9:00 a.m.

The Meeting will be held electronically via RingCentral Meetings. The public will be able to hear and participate.

- 1. Join from PC, Mac, or Android: <u>https://meetings.ringcentral.com/j/1495223836</u>
- 2. Via telephone: +1(623)404-9000 Meeting ID: 149 522 3836
- If you choose to access through your browser, visit <u>https://meetings.ringcentral.com/join</u> enter Meeting ID: 149 522 3836, Join Meeting

Please observe decorum and instruction from Committee Chair

FINANCE COMMITTEE MEETING AGENDA

1. CALL TO ORDER

2. ROLL CALL

4. DIRECTOR COMMENTS

Directors will give reports on any meetings that they attended on behalf of the Committee and/or choose to comment on various Committee activities.

5. PUBLIC COMMENTS

Members of the public may address the Committee on any items of interest within the subject matter and jurisdiction of the Committee but not on the agenda today (Gov. Code - 54954.3). Speakers are limited to 3 minutes. Due to the requirements of the Ralph M. Brown Act, the District cannot take action today on any matter not on the agenda, but a matter raised during Public Comments can be referred to District staff for discussion and possible action at a future meeting.

6. ADMINISTRATIVE AGENDA.

A. APPROVAL OF MEETING MINUTES

Approve minutes from the March 5, 2021 Finance Committee Meetings.

7. BUSINESS ITEMS

A. Review and recommend to full Board of Directors payment of invoices to the District.

- 1. 3-17-2021 MNS Invoice 77440 (February Services) \$7,865.00
- 2. SDRMA Insurance Invoice 2021-22 FY \$2,483.46
- 3. 3-31-2021 Streamline Website Invoice \$600
- 4. 3-5-2121 GSI Invoice 0876.001 2 (January Services) \$7,142.50
- 5. 4-1-2021 Stantec Invoice 1772297 (Services through 2-28-21) \$4,944.00
- 6. Consider Other Bills That may be received before the Committee Meeting
- B. Review Budgets, Use of FIN System
- C. Grant Process Review and cost tracking

8. NEXT MEETING:

Friday, May 8, 2021, 9:00 a.m. VIA RING CENTRAL MEETING

9. ADJOURNMENT The Los Olivos Community Services District is committed to ensuring equal access to meetings. In compliance with the American Disabilities Act, if you need special assistance to participate in the meeting or need this agenda provided in a disability-related alternative format, please call 805.946.0431 or email to losolivoscsd@gmail.com. Any public records, which are distributed less than 72 hours prior to this meeting to all, or a majority of all, of the District's Board members in connection with any agenda item (other than closed sessions) will be available for public inspection at the time of such distribution at a location to be determined in Los Olivos, California 93441.

Los Olivos Community Services District, P.O. Box 345, Los Olivos, CA 93441, (805) 500-4098

losolivoscsd@gmail.com, www.losolivoscsd.com

Add:

4-5-2021 Aleshire & Wynder Invoice 61425 (March Services) \$1,120

4-5-2021 GSI Invoice 0876.001 - 3 (March Services) \$3,867.50



201 N. Calle Cesar Chavez, Suite 300 Santa Barbara, CA 93103

 March 17, 2021

 Project No:
 LOCSD.180392.00

 Invoice No:
 77440

Los Olivos Community Services District P.O. Box 553 Los Olivos, CA 93441 ENGINEERING PLANNING SURVEYING CONSTRUCTION MANAGEMENT

Principal	Jeffrey Edwards	
Project Manager	Douglas Pike	
Project	LOCSD.180392.00	General Manager Services

This Invoice includes:

- 1. General District Management: \$5,390.00
- 2. WWTP County Site Easement: \$200
- 3. Design Contract: \$100.00
- 4. GSI Contract: \$762.50
- 5. Jenzen Contract: \$300
- 6. Siting Study UPC: \$500.00
- 7. WRF Grant: \$612.50

Professional Services for the Period:February 1, 2021 to February 28, 2021

Level 2	TASK01	District Management				
Professional	Personnel					
			Hours	Rate	Amount	
Project Manag	jement					
Assistant	Project Manager		2.00	175.00	350.00	
Project C	oordinator		8.00	105.00	840.00	
District M	lanager		21.00	200.00	4,200.00	
	Totals		31.00		5,390.00	
	Total La	or				5,390.00
				Level 2 S	ubtotal	\$5,390.00
Level 2	TASK02	Engineering Tasks				

Project	LOCSD.180392.00	General Manager S	ervices		Invoice	77440
Professior	nal Personnel					
			Hours	Rate	Amount	
Project Mar	nagement					
Assista	nt Project Manager		5.00	175.00	875.00	
District	: Manager		8.00	200.00	1,600.00	
	Totals		13.00		2,475.00	
	Total Labor					2,475.00
				Level 2 Su	ıbtotal	\$2,475.00
			Cur	rent Invoice A	mount	\$7,865.00
Outstandi	ng Invoices					
	Number	Date	Balance			
	77309	2/23/2021	8,188.75			

8,188.75

Total

Project	LOCSD.180392.00	General Manager Sei	rvices		Invoice	77440
Billing	Backup				Wednesday, Mar	ch 17, 2021
MNS Engin	-	Invoi	ice 77440 Date	d 3/17/2021		9:32:23 PM
Project	LOCSD.180392	2.00 General Manag	1er Services			
Level 2	TASK01	District Management				
	nal Personnel	District Hundgement				
Profession	iai Personnei		Hours	Rate	Amount	
Project Mar	agement		nours	Rale	Amount	
-	nt Project Manager					
lisich, Anth		2/10/2021	2.00	175.00	350.00	
	Feb monthly meetir					
Project	: Coordinator					
epeda, Ma		2/1/2021	.50	105.00	52.50	
op 0 a a / 1 i o	District Gmail mana				02.000	
epeda, Ma		2/2/2021	.25	105.00	26.25	
	-	r Label List based on r			20.25	
	Letters			et opunte		
Zepeda, Ma		2/5/2021	1.00	105.00	105.00	
		ent Claims for approve				
		ind process payment for				
epeda, Ma		2/8/2021	1.50	105.00	157.50	
	Members; Create S	l Account for emails fro ngle Payment Claims f ss payment for DP; Upo WTP Site	or approved S	Stantec		
Zepeda, Ma	ary	2/17/2021	.75	105.00	78.75	
	Committee Calenda	site with 2021 Regular r Dates; Scheduled Dis ence Bimonthly Meetin	strict Transpar			
Zepeda, Ma	ary	2/19/2021	2.00	105.00	210.00	
		ent Claims for approve s payment for DP; Beg ion to EHS				
Zepeda, Ma	iry	2/22/2021	1.00	105.00	105.00	
	District Gmail mana	gement				
	Finalize GSI Invoice	for submission to EHS	5			
Zepeda, Ma	ary	2/24/2021	.50	105.00	52.50	
	Begin Creation of L	OCSD Website Profile f eamline re Profile Page	or BR and Up			
Zepeda, Ma	ary	2/25/2021	.50	105.00	52.50	
		ebsite Profile for BR an with Streamline which				
District	: Manager					
Pike, Dougl		2/1/2021	2.00	200.00	400.00	
	Finance Committee update e-mail to FD	Meeting agenda and p Pirector Palmer.	oacket prepara	ation, and		
Pike, Dougl	as	2/2/2021	1.50	200.00	300.00	
	Finance Committee distribution.	Meeting packet prepar	ration, comple	tion and		

Dural 1			_		÷ .	77440
Project	LOCSD.180392.00	General Manager Service			Invoice	77440
Pike, Dougla		2/3/2021	.50	200.00	100.00	
	Appointment of brad Oath of Office to pac	Ross Coordination with N ket.	1r. Trindle	e, and add		
Pike, Dougla		2/5/2021	1.50	200.00	300.00	
	Preparation and distr Committee meeting a	ibution of General Meetin attendance (1 hr).	ig Agenda	. Finance		
Pike, Dougla	-	2/8/2021	3.00	200.00	600.00	
	Preparation and post	ing of General Meeting Pa	acket (3)			
Pike, Dougla	S	2/9/2021	.50	200.00	100.00	
	Cloacina (.5 hrs					
Pike, Dougla	S	2/10/2021	3.00	200.00	600.00	
		ct Meeting. Note that whe r is attending the General time. (2 hrs)				
	GSA Eastern Area Let	tter Draft (1 hr)				
	Emails and Phone con re: award of Planning	nverstaion with Jody Hac g Grant. (1 hr)	k, State V	/ater Board		
Pike, Dougla	S	2/12/2021	1.00	200.00	200.00	
,		drogeologic Conceptual M				
		ordination between the E				
	CSD. Draft, coordinat	tion with Director Palmer,				
Pike, Dougla		2/16/2021	2.00	200.00	400.00	
	Meeting Follow-up m	emo to Lisa Palmer. (1 hi	r)			
	Ad Hos TEch Commit	te meeting with Brian (1	hr)			
Pike, Dougla	S	2/22/2021	1.00	200.00	200.00	
, Dougla		Lisa Palmer regarding ag				
	Orientation questions (.5)	and email transmittals o	f info to E	Brad Ross		
	Follow-up letter to Pa sharing of your Well	aeter Garcia, ID-1 Re: Mu 5 site (1 hr)	tually ber	eficial		
Pike, Dougla	c	2/22/2021	1.00	200.00	200.00	
rine, Douyla		2/23/2021 Brad Ross regarding Wo			200.00	
	Collect and Email Doc correspondence (.5)	cument to Brad Ross, res	pond to			
	Draft Agenda (.5)					
Pike, Dougla	S	2/24/2021	2.50	200.00	500.00	
, 200910	ISent letter & email to appointment of Bradl	o Renee Bischoff at the C ey A. Ross to assume the n of Julie Kennedy. Requ	ounty reg position	arding vacated		
	white wall" that Brian foundational docume	rian Brad and Lisa, a con n & I generated. It is inte nt that we can add es/schedule/costs w grar	nded as a			
Pike, Dougla	S	2/24/2021	1.50	200.00	300.00	

Project	LOCSD.180392.00	General Manager Ser	vices		Invoice	77440
		o Renee Bishoff (SB Cou ad Ross and requesting a		-		
	Communication to for Brad Ross (1)	sheila Hess (SB County	r) regarding F	Form 700's		
	Totals Total Lab o	or	31.00		5,390.00	5,390.00
				Level 2 S	ubtotal	\$5,390.00
Level 2	TASK02	Engineering Tasks				
Professio	nal Personnel					
			Hours	Rate	Amount	
Project Ma	-					
	ant Project Manager					
Nisich, Ant	-	2/3/2021	1.50	175.00	262.50	
	project status mee					
Nisich, Ant		2/17/2021	1.50	175.00	262.50	
	-	WRF Grant requirements				
Nisich, Ant	•	2/24/2021	2.00	175.00	350.00	
Distric	General Manager	P grant application and r	eview w/ into	erim		
	t Manager	2/1/2021	1.00	200.00	200.00	
Pike, Doug	Los Olivos CSD; Lo	2/1/2021 ocation of County Bike Pa 3. Updated easement do	ath and Los C		200.00	
Pike, Doug		2/2/2021	1.00	200.00	200.00	
D 'I D		a to UPC, and contract c		200.00	200.00	
Pike, Doug		2/3/2021 progress review meeting	1.00 with GSI and	200.00 d Director	200.00	
Pike, Doug		2/5/2021	1.00	200.00	200.00	
Tike, Doug		y Progress meeting with			200.00	
Pike, Doug		2/8/2021	.50	200.00	100.00	
r mey boug		ew - Send to Cloacina ar			100100	
Pike, Doug	las	2/12/2021	1.50	200.00	300.00	
	Los Olivos LAMP S	•	50	200.00	100.00	
Pike, Doug		2/19/2021 iously considered parcels	.50 to Brian Tet	200.00 ley at UPC	100.00	
	(.5)					
Pike, Doug		2/23/2021 Ilts to Andres Lapostol (O	1.50 GSI) (.5)	200.00	300.00	
	Lengthy email to F effluent injection (RWQCB new staffer Lucill	le Blancarte r	regarding		
	Totals		13.00		2,475.00	
	Total Lab	or	10100		2, 1, 5100	2,475.00
				Level 2 Si	ubtotal	\$2,475.00
				Projec	t Total	\$7,865.00

Project	LOCSD.180392.00	General Manager Services		Invoice	77440	
			Total this Report		\$7,865.00	



1112 I Street, Suite 300 Sacramento, California 95814-2865 T 916.231.4141 or 800.537.7790 * F 916.231.4111

Maximizing Protection. Minimizing Risk. *www.sdrma.org

March 25, 2021

Mr. Douglas Pike General Manager Los Olivos Community Services District Post Office Box 345 Los Olivos, California California

RE: 2021-22 Property/Liability Program Estimated Contribution

Dear Mr. Pike,

We sincerely appreciate your continued support of SDRMA and patience in waiting for the 2021-22 estimated renewal contribution while we are working on finalizing renewal costs from the program excess/reinsurer carriers.

As we mentioned at our 2021 Virtual Spring Education Day on March 3, the current insurance market continues to be impacted by the catastrophic losses around the world. Underwriting practices throughout the insurance market are consistently evolving due to the development of losses and cost of claims. Based on those factors and overall pool claims costs over the past several years, after considerable review and discussion with the SDRMA Board of Directors, staff has refined SDRMA underwriting methodologies for the 2021-22 renewal.

SDRMA will continue to make every effort to reduce operating costs and minimize rate increases while ensuring the financial integrity of the Property/Liability Program. We have received initial indications from our excess/reinsurer carriers of imposed rate increases that are impacting all of their clients, including SDRMA.

We are providing you with an estimated contribution amount for use in your budgeting process. Until the 2021-22 renewal invoices are issued, we cannot guarantee the final contribution amount. We will continue to work with our excess/reinsures to negotiate the rate increases on behalf of our program membership. Your agency's actual renewal contribution will be confirmed on the 2021-22 renewal invoice that will be sent out in mid-May.

The actual contribution amount for 2021-22 will vary compared to 2020-21 due to rate increases, any coverage limit changes, stand-alone policy pricing, scheduled item additions/deletions, updates on agency operations submitted on the renewal questionnaire, risk factor adjustments, and Credit Incentive Program (CIP) points earned. Your agency's 2021-22 estimated contribution amount is as follows:

2020-21 Annual Contribution	2021-22 Estimated Annual Contribution
\$2.5M Liability Limits	\$2.5M Liability Limits
\$2,925.49	\$2,483.46

A proud California Special Districts Alliance partner. California Special Districts Association 1112 I Street, Suite 200 Sacramento, California 95814-2865 T 877.924.CSDA (2732) * F 916.442.7889 CSDA Finance Corporation 1112 I Street, Suite 200 Sacramento, California 95814-2865 T 877.924.CSDA (2732) * F 916.442.7889



The SDRMA Property/Liability Program offers three liability limit options; \$2.5M, \$5M, or \$10M. Lowering liability limits could help lower your agency's annual contribution amount. Before considering lower liability limits, please verify that your agency is not bound by any contract or agreement to carry a specific level of liability limits. Please consult legal counsel and your governing body prior to changing the coverage limit. Liability limits cannot be changed after renewal on July 1.

Other Important Items to Note:

- If you would like to elect an alternative liability limit for 2021-22, please provide your selected limit by May 15, 2021 by emailing memberplus@sdrma.org.
- No Longevity Distribution is declared for the Property/Liability Program this year.
- Our Multi-Program Discount provides members a great opportunity to save money. Members receive an automatic multi-program discount of 5% per program (Property/Liability and Workers' Compensation) when they belong to both programs.
- Your annual contribution provides your agency with access to safety and loss prevention services, resources, and trainings that are provided at no additional cost, including Target Solutions, ergonomic assessments, discounted CSDA Conferences and trainings, free CSDA webinars, and safety DVDs.
- The 2021-22 estimated contribution range does <u>not</u> serve as a 'not to exceed' amount. Final reinsurance costs, and any policy adjustment made before or after July 1 may incur a change in premium.
- Members considering withdrawal from coverage with SDRMA for the 2021-22 program year are required to submit a "Notice of Intent to Withdraw" by **April 1** in accordance with SDRMA Bylaws and must have completed the initial three full program year commitment period.

On behalf of the Board of Directors and our entire risk management team, we thank you for your continued participation in our programs! If you have any questions, please contact Ellen Doughty, at <u>edoughty@sdrma.org</u> or 800.537.7790.

Sincerely, Special District Risk Management Authority

aura S. Gill

Laura S. Gill Chief Executive Officer

Streamline

\$60	from Streamline	?
🗌 Dov	vnload invoice	
To From	Douglas Pike - Los Olivos Community Services D Streamline	istrict
	Pay this invoice	

APR 1, 2021 – APR 1, 2022	
Streamline Web Member 50k-250k Qty 1	\$600.00
Amount due	\$600.00

PAY \$600.00 WITH ACH OR WIRE TRANSFER

Bank transfers, also known as ACH payments, can take up to five

business days. To pay via ACH, transfer funds using the following bank information.

1		
	Bank name	WELLS FARGO BANK, N.A.
	Routing number	121000248
	Account number	40630134959785748
	SWIFT code	WFBIUS6S

PAY \$600.00 WITH MAILED CHECK

Please enclose a printed copy of the invoice PDF and use USPS. (Courier services may not deliver to PO Boxes.) Once received, checks are processed within 3 business days.

Memo	326BDB28-0002	
Mail to	PO Box 207561 Dallas, TX 75320-7561	

Powered by Powered by I Learn more about Stripe Invoicing



Doug Pike Los Olivos Co PO Box 345 Los Olivos, CA	mmunity Services Di A 93441	strict		March 5, 202 Invoice No:	1 0876.001 - 2	
Project <u>Professional</u>	0876.001 <u>Services from Febr</u>	Groundwater Quality uary 1, 2021 to February 28, 20		gement Servic	es	
Task Labor	.001	Hydrogeological Conceptual N	Model			
Dringing	Deneultent	н	lours	Rate	Amount	
Thom	Consultant pson, Timothy Hydrogeologist		5.25	265.00	1,391.25	
	, Brian		3.25	160.00	520.00	
Lapos	stol, Andres Totals Total Labo r	2	14.75 23.25	135.00	1,991.25 3,902.50	3,902.50
				Tota	I this Task	\$,902.50 \$3,902.50
Task Labor	.002	Groundwater Monitoring Plan				
o		Н	lours	Rate	Amount	
	ng Hydrogeologist /, Timothy eologist		1.00	225.00	225.00	
-	stol, Andres		22.00	135.00	2,970.00	
	Totals Total Labo r		23.00		3,195.00	3,195.00
				Tota	II this Task	\$3,195.00
Task Labor	.005	Project Management				
		Н	lours	Rate	Amount	
	ative Assistant vergne, Andra		.50	90.00	45.00	
27141	Totals		.50	00.00	45.00	
	Total Labor					45.00
				Tota	ll this Task	\$45.00
Project Sumn	nary	Current Period	P	rior Periods	Invoiced to Date	
Total Billir Autho	-	7,142.50		13,411.25	20,553.75 85,000.00 64,446.25	

Project	0876.001	Los Olivos: GW Q	ality Mgmt Servic	es Invo	ice 2
				Total this Invoice	\$7,142.50
Outstanding Invoices					
	Number	Date	Balance		
	1	2/4/2021	13,411.25		
	Total		13,411.25		



 Invoice Number
 1772297

 Invoice Date
 March 31, 2021

 Customer Number
 163739

 Project Number
 184031368

Please Remit To Stantec Consulting Services Inc. (SCSI) 13980 Collections Center Drive Chicago IL 60693 United States Federal Tax ID 11-2167170

Bill To Los Olivos Community Service District Douglas Pike PO Box 345 Los Olivos CA 93441 United States

Project Description:

Los Olivos Community Service District Project Design Services – Task Order No. 1 rev 01 (Loading Study)

Stantec Project Manager:	Glaeser, Autumn Lee
Authorization Amount:	\$20,000.00
Authorization Previously Billed:	\$11,650.50
Authorization Billed to Date:	\$16,594.50
Current Invoice Due:	\$4,944.00
For Period Ending:	February 19, 2021

email invoice to:

Doug Pike (dpike@mnsengineers.com)

1772297 184031368

Determine the flows&strength of commercial & residential wastewaterTop Task 201loading to determine capacity of collection system and package plant treatment facilities.						
Low Task 201.001	Determine the flows&strength o capacity of collection system of				determine	
Professional Services						
Category/Employee		Date	Hours	Rate	Current Amount	
Devries, Andrew Anil		2021-01-06	4.00	192.00	768.00	
Devries, Andrew Anil		2021-01-26	2.00	192.00	384.00	
Devries, Andrew Anil		2021-01-27	2.00	192.00	384.00	
Devries, Andrew Anil		2021-01-29	4.00	192.00	768.00	
Devries, Andrew Anil		2021-02-02	3.00	192.00	576.00	
Devries, Andrew Anil		2021-02-04	1.00	192.00	192.00	
		_	16.00		3,072.00	
Zukowski, Jonathan Th	nomas (Jonny)	2021-01-27	0.75	192.00	144.00	
Zukowski, Jonathan Th	nomas (Jonny)	2021-01-28	3.00	192.00	576.00	
Zukowski, Jonathan Th	nomas (Jonny)	2021-02-02	4.00	192.00	768.00	
Zukowski, Jonathan Th	nomas (Jonny)	2021-02-03	2.00	192.00	384.00	
			9.75		1,872.00	
Profe	essional Services Subtotal	-	25.75		4,944.00	
Low Task 201.001 Subtotal					4,944.00	
Top Task 201 Total					4,944.00	
	Total Fees &	Disbursements			\$4,944.00	
	INVOICE TOT	AL (USD)		_	\$4,944.00	

Invoice Number Project Number



Eileen Lee eelee@awattorneys.com 18881 Von Karman Avenue, Suite 1700 Irvine, CA 92612 P (949) 223 1170 F (949) 223 1180

AWATTORNEYS COM

ORANGE COUNTY | LOS ANGELES | RIVERSIDE | CENTRAL VALLEY

April 5, 2021

VIA EMAIL ONLY: dpike@mnsengineers.com

Mr. Doug Pike, Interim General Manager Los Olivos Community Services District P.O. Box 345 Los Olivos, CA 93441

> Re: April 2021 Billing Statement (for services through 3/31/21); Aleshire & Wynder, LLP

Dear Doug:

Enclosed please find a billing statement for the month of April, which includes services rendered and costs incurred by Aleshire & Wynder, LLP, through March 31, 2021.

Should you have any questions or require additional information concerning the foregoing, please let me know.

Sincerely,

ALESHIRE & WYNDER, LLP

Eileen Lee for

Eileen Lee for G. Ross Trindle, III

Enclosure

LOS OLIVOS COMMUNITY SERVICES DISTRICT (01245) MONTHLY BILLING SUMMARY

Billing Period: March 1 thru March 31, 2021

	Total Hours	Hourly Rate	Total Fees	Total Costs	Total Fees & Costs	Writeoff Value	Comments
0001 General (\$200 Blended: Atty / Paralegal / Law Clerk)	5.60	200	1,120.00	0.00	1,120.00	0.00	(Advisory/Transactional Svcs)
TOTALS:	5.60		1,120.00	0.00	1,120.00	0.00	

Date

03/02/21 GRT

03/10/21 GRT

03/18/21 SANTA BARBARA COUNTY - EFT 1,640.00

03/10/21	PREPARATION FOR AN MEETING, INCLUDING (PERFORMANCE REVIE GENERAL MANAGER	ID ATTEND REGULAR CLOSED SESSION FO		040.00
03/17/21	GRT (SPECIAL MEETING) CO PREPARATION FOR AN MEETING AND PROJEC	ID ATTEND SPECIAL	2.20	440.00
	Total Professiona	al Services –	5.60	\$1,120.00
	PROFESSIONAL SE	ERVICES SUMMARY		
Code	Name	Hours	Rate	Amount
GRT	George "Ross" Trindle	5.60	200.00	1,120.00
	Total Professional	Services 5.60		\$1,120.00
	Receipts Si	nce Last Bill		
	Prior Balance On This Matter		-1,640.00	
	Date Description	Total Applied to t	his Matter	

PROFESSIONAL SERVICES

DRAFT BRIEF RESPONSE CONFIRMING SAME

(EVALUATIONS) REVIEW OF EVALUATION

PROCESS BY PRESIDENT PALMER AND

(REGULAR MEETING) COMPLETE

2540 Alamo Pintado Avenue Los Olivos, CA 93441	
For Legal Services Rendered Through 03/31/21	

Description

CLIENT:	01245 - Los Olivos Community Services District
MATTER:	0001 - General



Attorney

Los Olivos Community Services District

Attn: Mr. Doug Pike, Interim General Manager

Orange County 18881 Von Karman Ave., Suite 1700 Irvine, CA 92612 P 949.223.1170 • F 949.223.1180

awattorneys.com

April 5, 2021 Bill No. 61425

Amount

40.00

640.00

Hours

0.20

3.20

Client: Matter:	01245 - Los Olivos Community Services District 0001 - General		April 5, 2021 Page 2
	Less Total Payments	\$1,640.00	
	Current Matter Due Amount	\$1,120.00	
CURRENT	BILL TOTAL AMOUNT DUE	_	\$1,120.00
Balance Fo	prward:		1,640.00
Payments	& Adjustments:		-1,640.00
Total Due:		_	\$1,120.00

Continued . . .

Please return this page with remittance

to Aleshire & Wynder, LLP

Bill Number: Bill Date:	61425 April 5, 2021	
Client Code:	01245	
Client Name: Matter Code:	Los Olivos Community Services District 0001	
Matter Name:	General	
Total Profession	al Services	1,120.00
Total Disbursem	nents	0.00
CURRENT BILL	TOTAL AMOUNT DUE	\$1,120.00
Balance Forward	d:	1,640.00
Payments & Adj	ustments:	-1,640.00
Total Due:		\$1,120.00

Amount enclosed: _____

Thank You



Doug Pike Los Olivos Community Services District PO Box 345 Los Olivos, CA 93441				April 5, 202 Invoice No		
Project Profession	0876.001 al Services from Marcl		-	nagement Ser	rvices	
Task Labor	.002	Groundwater Monite				
.			Hou	rs Rate	e Amount	
The	al Consultant ompson, Timothy		7.	50 265.00	0 1,987.50	
Fra	ing Hydrogeologist inz, Brian Geologist		2.	00 160.00	0 320.00	
Lap	oostol, Andres		10.	00 135.00	0 1,350.00	
	aphics/Database rry, Andrea Totals		1. 21.	50 110.00 00	0 165.00 3,822.50	
	Total Labor					3,822.50
				т	otal this Task	\$3,822.50
— — — — — Task Labor	.005	Project Managemer				
			Hou	rs Rate	e Amount	
	strative Assistant					
D'A	Auvergne, Andra Totals			50 90.00 50	0 45.00 45.00	
	Total Labor					
			•		43.00	45.00
				-	otal this Task	45.00 \$45.00
Project Sur		Curren	Period	-	otal this Task	
	nmary			т	otal this Task Is Invoiced to Date	
Total Bi Aut	nmary illings thorized Budget		Period	T Prior Period 20,553.7	Fotal this Task Is Invoiced to Date 75 24,421.25 85,000.00	
Total Bi Aut	nmary illings thorized Budget dget Remaining		Period	T Prior Period 20,553.7	Total this Task Is Invoiced to Date 75 24,421.25 85,000.00 60,578.75	\$45.00
Total Bi Aut Bud	nmary illings thorized Budget dget Remaining	Date	t Period 3,867.50 Balan	T Prior Period 20,553.7 Tota	Total this Task Is Invoiced to Date 75 24,421.25 85,000.00 60,578.75	\$45.00
Total Bi Aut Bud	nmary illings thorized Budget dget Remaining g Invoices Number 1	Date 2/4/2021	t Period 3,867.50 Balan 13,411.	T Prior Period 20,553.7 Tota	Total this Task Is Invoiced to Date 75 24,421.25 85,000.00 60,578.75	\$45.00
Total Bi Aut Bud	nmary illings thorized Budget dget Remaining g Invoices Number	Date	t Period 3,867.50 Balan	T Prior Period 20,553.7 Tota	Total this Task Is Invoiced to Date 75 24,421.25 85,000.00 60,578.75	\$45.00

Report : Financial Status (Real-Time)

Selection Criteria: Fund = 3490

Layout Options: Summarized By = Fund, LineItemAccount; Page Break At = Fund Last Updated: 4/6/2021 3:55 PM

			Accou		
Fund 3490 Los Olivos CSD	0/00/0004	4/0/0004	0/00/0004	0/00/0004	
	6/30/2021 Fiscal Year	4/6/2021 Year-To-Date	6/30/2021 Fiscal Year	6/30/2021 Fiscal Year	
Line Item Account	Adjusted Budget	Actual	Variance	Pct of Budget	
Revenues					
Taxes					
3066 Special Tax Assessment	188,887.00	116,445.34	116,445.34	61.65%	
Taxes	0.00	116,445.34	116,445.34	0.00%	
Use of Money and Property					
3380 Interest Income	0.00	537.51	537.51		
3381 Unrealized Gain/Loss Invstmnts	-476.00	-475.75	0.25	99.95%	
Use of Money and Property	-476.00	61.76	537.76	-12.97%	
Intergovernmental Revenue-Other					
					SBCEHS Reimb. For
4840 Other Governmental Agencies	180,000.00	25,061.75	25,061.75	13.92%	Special Studies
Intergovernmental Revenue-Other	0.00	25,061.75	25,061.75		
Revenues	180,000.00	141,568.85	142,044.85	0.79	
Expenditures					
Services and Supplies					
7090 Insurance	2,320.00	0.00	2,320.00	0.00%	
7324 Audit and Accounting Fees	4,000.00	2,000.00	2,000.00	50.00%	
7430 Memberships	1,200.00	1,050.00	150.00	87.50%	
7450 Office Expense	2,000.00	0.00	2,000.00	0.00%	
7460 Professional & Special Service (Project, Planning					
& Studies)	193,500.00	21,575.00	171,925.00	11.15%	
7508 Legal Fees	27,000.00	14,181.22	12,818.78	52.52%	\$3238.02 from FY 19-20
7510 Contractual Services (IGM Contract)	80,400.00	71,533.76	8,866.24	88.97%	\$13,333.75 from FY 19-20
7530 Publications & Legal Notices	1,000.00	0.00	1,000.00	0.00%	
7732 Training	1,500.00	0.00	1,500.00	0.00%	
Services and Supplies	309,920.00	110,339.98	202,580.02	35.60%	
Other Charges					
7894 Communication Services	930.00	0.00	0.00	0.00%	
Other Charges (County Election Fees)	8,000.00	0.00	0.00	0.00%	\$2,000 Charged to 7324
Expenditures	318,850.00	110,339.98	202,580.02	34.61%	

Accounting Period: OPEN

Cash Balance

Cash Balance	Beginning Balance	Month-to-date cash reciepts	Month-To-Date Treasury Credits (+)	Month-To-Date Treasury Debits (-)	Ending Balance						
Fund											
						3490 Los Olivos CSD					
						7/1/2020 - 7/31/2020 (FY 2020-21)	193,885.94	0.00	608.94	6,190.00	\$188,304.88
8/1/2020 - 8/31/2020 (FY 2020-21)	188,304.88	0.00	0.00	3,883.02	\$184,421.86						
9/1/2020 - 9/02/2020 (FY 2020-21)	184,421.86	0.00	0.00	25,696.25	\$158,453.86						
10/1/2020 - 10/31/2020 (FY 2020-21)	158,453.86	0.00	339.47	8,476.50	\$150,316.83						
11/1/2020 - 11/30/2020 (FY 2020-21)	150,316.83	0.00	0.00	0.00	\$148,574.58						
12/1/2020 - 12/7/2020 (FY 2020-21)	148,574.58	0.00	115,577.07	19,862.00	\$244,289.65						
1/1/2021 - 1/31/2021 (FY 2020-21)	244,289.65	0.00	6,838.04	0.00	\$251,127.69						
2/1/2021 - 2-28-2021 (FY 2020-21)	251,127.69	0.00	116,459.34	145,180.52	\$222,406.00						
3/1/2021 - 3/31/2021 (FY 2020-21)	\$222,406.00	0.00	16,661.75	0.00	\$226,199.51						

